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3 1 The distribution of cnergy states and their clectron popalishons Tor nuilarial
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This material is (17 a metallic conductar (23 an insulator (3 a semiconductor
v 201 Ge s added to Gads, the G is about equally distributed between the Gy
and As sites. Which sites would the Ge prefer if Se s added also?
(1B, {2) Ga, {3) As
b 3 Would GaAs doped with Se be {1an n-type or (2)a p-type scomconductor?
) 4. From spectral data the dissociation energy ol CLF has determined to be 253
kJimole, The A of CLF(pyis <237 klfmele. The dissociaton energy of
Cl, 15 239 klfmaole. Caleulate the dissociation energy ot |,
(17 1078 kl/mole, (2) 215.6 klimole, (3) 4663 klimole.
CWhich of the following species conform to the EAN rule?
(1) [Fe(CNY] " (21 WICO), (33 Ni(PPh,,(CO),
(4) Mn(CO),(CH,C,H.)
)6 Which of the following are not possible close-packing schemes?
(11 ABCABC (21 ABAC . (3 ABABC. . (4) ABCRU 13) ABEA
(6) ABCCAB

1 7 Indicating which of the following binary systems might expect positive
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deviation from Raoult’s law:
(1 HCT = (CH,0 (23 H,0 - CH,, (31 HOCT, - CCL
(4) 1CCL, - (C,H, )N

} 8. The emission spectrum of atomic Ca shows o transiion from a1 state 1o
P ostate. I the selection rule permits only =21, or U ihul not =0 w J=u0g,
how many lnes will be observed for s wansion”
(1y2 (2yd (316 (408

19, The wnization energies of T are as Tollows
[ I 1l I Y
6,82 13.a8 0 2749 4327 9922 ev
What stable oxidatuon states are expected for 11 in compounds 7
CLY T 2y D 3Ty gy Ty ) TV
100 The characteriste valence shell conliguration tor the T ey e
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( )L ACSU0-mL sample contaming N was treated with 25,0 bl ol 00300 A

EOTA 1o complex all the Ma™" and leave excess EDTA insolution, The
exeess EDTA was then back-titrated, requiring 5 00 mL of 00500 M #n
What was the concentration of Ni*" in the original solution?

(00150 M {(2) 002000 (3300735 M{4) 00812 M

( 14 Caleulate B for the reaction TOW + 2e- - Br-
1441V
1491 V 1584V 098 V|
BrO, — > HOBr — > Br, — > DBr

(0050V (2)0486 Y (31 1314V {4)2.682 V
[ b3 A SG00-mL sample containing La' was treated with sodium oxalate 10
precipitate La(C,0, ), which was washed, dissolved in acid, and tirated
with 18.04 mL of 0.006363 M KMn0O,, Caleulate the molarity of La™ in the
unknowt,
(13 2.296mM (233826 mM (334592 mM (45773 mM
[ P4 A 00450 M solution of benzoie acid has o pHoar 2,78, Caleulure
pha for this acid,
(L) 364 {23419 (3) 578 (4 6 44
( V3 How many grams of N, COCEW 105 99y should be mived with § 00 2
cf NaHCO(FW 84010 1o produce 100 ml ol bulier with pH 10 o0
Cly 2089 ¢ (23 %46
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(Motely The ., =036atpll =10 ., =235X 107 a pll = 4.5

(Note2) He™™ + 2e = Hg(l) Fr=0.852 W
(Nowe3y La® + 3¢ = la(s) = .2.370 Y
(Noted} MO BT+ Se = M =4 [0 10 = | 507
INOWS) 2 OO p) + 2 H + 2e= HLO.0, [ = -(1.432

(hotlet) tor H2U3, the pRal = 6,352, pka? = 10,32y,




